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Question 1
(@) What is"Preventive Maintenan”? (30 %)

(b) List 7 (seven) factors being considered in choosimgchinery and equipment in apparel (70 %)
manufacturing. Explain your answ

Question 2
Describe the systenanc their main feature

(& The progressive Bundle system, and (50 %)
(b) The Conventional Bundle Syste (50 %)
Question 3

Discus: the advantages & disadvantages of using the fatigwutting equipment in the clothing fact

(& Band knife (50 %)
(b) Die cutter (50 %)
Question 4

(@) Describe briefly the main purposes of the “operaticeakdown. (50 %)
(b) Discuss 5 (five) factors that may govern the extémperation breakdown. (50 %)
Question 5

(@) State the objectives of “Line-balancing” technigiregarment manufacture. (60 %)

(b) Refer to the following data provided, answer thegjions below.
Product: Blouse
Production Target: 2,400 pieces.
Production Time: 8 hours (480 Standard mir

Operatiol Standard time /garment (m
1. Sew Colla 1kt
2. Join shoulder 0.48
3. Sewcolla 0.9¢
4. Make sleev 0.51
5. Setin sleeve &close side seam 1.2
6. Setin colla 1
7. Hem botton 0.4¢
8. Button holing 0.53
9. Button sewin 0.51
i) How many operators should be assigned to eachtapefar producing 2,400 blouses per (20 %)
working day -
i) Calculate the "cycle time (20 %)
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Question 6
What are the objectives of Work Measurement tecles

Question 7
(&) Discuss 5 (fivefactors thamay contribute to the choice a proper material handling systt

(b) State the advantages of an effective material iamndystem.

Question 8

Refer to the cutting order provid:
Size 36 38 40 42 44
Quantity 20C 30C 40C 35C 15C
Marker length (1 gmit 20nm 2.2ir 2.4 2.5m 2.6mr

Information relevant to cost and possible savings is given below:
lgmtlays 2gmt.lay, 3 gmt lay: 4 gmt. lau

Spreading time/lay 0.75 min 0.9 min 1 min 1.2 min
Marker preparation tin 0.75 hr 1 hou 1.5 hr 2 hour:
Fabric costs: $ 60 per meter

Cutting time per garment mark 30 mins

Maximum cutting heigh 10C plies

Maximum garments per marker: 4

Labour cos $ 60 per hot

End allowance 4 cm. per pl

Fabric consumptic saving on mul-garment or mul-size marker is 59
(@) With reference to size 40, compare the total costanomic of cutting.

i) A shallow lay using mul-garment market,
ii) A deeper alay using a single garment marker.

(b) Calculatethe total cutting room cost using an economic latyptan

- END -
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